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6-7 Solving Radical Equations and Inequalities 29 Lo o

Solve each inequality.
!

I Jb-7+6512

SOLUTION:
Since the radicand of a square root must be greater than or equal to zero, first solve 5 —7 =0 .

h-T20
hzT
Solve Vh—TF+6%12,

JE-T+6212
Jb=7 <6
(me?fgéz
h-7<36
b<43

The solution regionis 7 < A= 43

@& VIa+3-122

SOLUTION:
Since the radicand of a square root must be greater than or equal to zero, first solve 3 +32 0.

Ju+320
3uz-3
az=|

Solve Wla+3-1<2.

Wlag+3-1<2

J3a+‘3 =3
(Bar3) s
Ju+i<9
Ja<é

s

The solution regionis —1 =« <2,
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@.29. JIx+6+243

SOLUTION:

Since the radicand of a square root must be greater than or equal to zero, first solve Jx +6 20,

3x+620
3xz -6
x2=2

Solve \J‘3x+6+2£5.

=i

The solution region is —2 % v %1
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@ 2. ﬁd,f?,':;-rﬂ <3

SOLUTION:
Since the radicand of a square root must be greater than or equal to zero, first solve 2y +1> 0,

2y4lz20
2pr-l

up 3 oS
2

Solve 6 ..j#! <3.

6-y2yr+1<3
j;a_;?ﬁ}z
(V1) >3
2y+l=9

2v28
=4

The solution region is ¥ =4 .
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